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Write a number which lies between each pair.

Any number within the ranges shown here.

366-369 | 370
qq| 992
502-510 | 51|

Complete these additions and subtractions.

462 @ 399 | < | 401

102 @ 279| < |297
124-131 | 132
700-704 | 705
551-554 | 555

®© 6 6 6

42 +38 =| 80 and 42 - 12=| 30
58 +24 =| 82 and 58 - 26 =| 32
65+ 17=| 82 and 65-33=| 32
73+ 19=| 92 and 73 -31 =| 42
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@ Year 3 Week 2 - Homework - Answers Name

P

" Can you explain
\ the pattern?

Sso

m Compare the answers you wrote in each box
for questions 14, 15 and 16.

What pattern do you notice?

The answers all end in 2 because they are all based on

pairs of numbers with ones digits which give an answer

of 12(8+4,5+7,3+9) orof2(8-6.5-3,.3-1)

I found this:
(L) Easy Challenging ~ [(©) I needed help
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